EARAROBREBRT —5 XN—ZXBISH—F 2023128128 (X) 8EIKIR3H

Wl B 1 —E HSZ—E | | iEwE - | 9 00 FE
[AXE%&]) 17&:700,000 ~ 23&:245,000 9  337%&:140,000H . 43#%&:91,000 5 3&:49,000 &
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
» N A= KHE 41, -2-2- . - WERAD (B4
1 S| U= rFrUnRS B4 & 1(49)0 2-2-2-2 | 37.5 2 Ezg;t e
RVIUN—RF—h B:O-IFZAF—2 J=HUTr—1
o~ Q 3 IS 4. -1-1- . - IMEE (KR)
5 4| F=NVEY R ev10 | B 1(/1\1;_? 1-1-1-1 | 37.7 3 zzgf Eﬁ;‘%g
RN=VISA B:OvI=— /=Y Tr—I
— — B4 | SEEE 1:41.3 4-4-3-4 |37.6| — 5 509 | FREERD (KGR)
317/9|YU—=70O 5.0 Q o |FEE
RiTT/—=A/) B:I7PZSIvUT4 NIERNTTZ—L
R N N N S . _2_ 4 — BREH (KR
4l 1] [ PYTATL— AR R S ISR U2 s
R:O=IRA XA B:TSUH— =% IEF
= \pe ERRE 41, -5-5- . - FEER (KR)
5|55 | T—24—7VY "7 5.0 1(/4\117_55 SRR i f;; IJ_IEE%A
RiIAYYISwya B:=vabyRO-X YFAORES
\ 4 8 | LUASEES 1:41.5 6-6-6-6 |37.5| — 10 | 533 | &fEfE GKR)
51811/ YOL3d 56.0 (@) *3) Ts=
RiNA40O B:r—I—k XKL WARBUS
— SeIRE 41, -11-12- . - FEIR (KR)
d > PIEE G =i w6 | B G [T T e
REVFOYY BN\VIYIZRYR 75 Mg
o N - ROBE— : -9-8- - BRES (KR)
8 g \ERZAYHY i 4 O 1(.14/22.)0 9-9-8-7 |37.5 8 (4_3:) %ﬁ%rx
R:TUA=Y ®:AHYVFFVI i &
. = LLIAES S 142, -12-10- . - FENR (KR
95| 6| SYHRSTUZR i 7 i 1 &2) 6 |12-12-10-10| 37.8 9 (3?2) IR
RIVZRAI—ZIZRY— HB:0=H [=FXe]
© s 7 | HER 1:42.7 10-10-11-11|37.9 | - 6 444 | HRIESEI (OKIR)
101 7|10l P A BINR 56.0 @) © |¥TIVTRIRIAVE 1)
RSUN—T BZF/9AVT Hvo—tY
— o v AR 143, -8-9- . - FER (KR)
1lglnl TAF LR~ o4 | B 1?23)0 7-8-9-12 | 38.7 4 (i?j) gEng
RYNITSVY B:ITFUF—F AL—RIT7—L
S B3 | BARA 1:43.0 8-7-7-7 |38.7| — | 12 | 450 |BWE— OKR)
B3| ervy—+ 5.0 ) ) | ST
RiAVHAYTF—Yay B:o—-b¥Iauvy hEHiE

® 1—F—EBIRfL

13—F— |[4.7.1,9,5.11,12,3,8,10,2,6
23—3— [4.7.1,9.5,11,3,12,8,10,2,6
33—3— |[4.7.9.1,5,11,3,8,12,6,10.2

43—F— |4,7,1,9,5,11,(3,8),2,6,10,12
@ IRE
& s 7 40H | | DA R 4-7 350/ | | # &= 4-6 940M | | 3=¢& 4-7-9 2,420H
& B 7 130M 7-9 5901 | | &5 &= 4-7 9%0M | | 3:E=E 7-4-9 11,810
4 130M 4-9 550/ | | RS & 7-4 2,010MH
9 230

ABIC OV TRUTEREERRODDZE. THRIIZEL.




